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16U/117/22 (1)

No. of Questions/wvat 6t @&am : 150

Time : 2 Howrs Full Marks : 450

T ; 28] [‘I{H‘fﬂ% 450

Note : (/) Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.
tferehiireh oAl 1 & B S | TR W 3 (49 o @ 2 | g
TeTd I & To1e U ot &rer wmam | Sk ARG W W T I
& |

(if) If more than one alternative answers scem to be approximate (o the
correct answer, choose the closest one.

afe Tt Ifeus I At I H Frese &, 0 e udl m
g | |

e

1. The Supreme Court has struck down which of the Const

itutional amendment
and NJAC Act as unconstitutional.

(1) 98th Amendment (2) 99thAmendment

(3) 100th Amendment (4) 97th Amendment

giftw #1¢ 3 Flum F e wxiug sk afifrm T

Ry NJAC aﬁ W%ﬁ‘gqre
(NBATMR ) 99 4t sighere

(3) 100 off w9 (4) 97 & wwite

(1)
(Turn Over)
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2. Who was clected Nepal's Prime Minister in October 2015 ?
(1) Sushil Koirala (2) KPSOL: {3) GP Koirala (4) SB Thapa
0 H B ager 2015 8 AUTA & weaEwA 5 T A
(1) gf@ wrmen (2) &, 9, @, FJd (3) S, o, wrewen  (4) Ty, Al oA

3. Andhra Pradesh's futuristic new capital would be .

(1) Hyderabad (2) Amaravati (3) Vijayanagaram (4) Kumool
Ty TR % uiaer $ 78 vaurE gt
(1) dzmar (2) 3mad! (3) forsaammm (4) F

4. Name the winner of the Nobel Prize in Physics for the year 2015 :
(1) Takaaki Kajitd (2) Satoshi Omura
(3) William C. Campbell (4) Aziz Sancar
ad 1(115#%H3ﬁﬁﬁﬁﬁﬁagwr{%ﬁﬁmmm§ :

(1) ZiepTR) B (2) wdveht AT

(3) faferm fg, F7radt (4) FTST THHT

5. Asperthe Latest 'State of Forest Report' the forest cover in India is :

(1)2 6% of geographical area (2) 21% of geographical area

[ A 2y 0 '3 ] y - i g ) .
(3) 16% of geographlcal arca (4) 31% of geographical area

(Continie )
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T AT BREE WO % STER A § Sl 8

(1) ¥ &3 F 26 wiowa (2) ¥ & 1 21 yfaea

(3) 9 &3 =1 16 sfrwa (4) ¥ &3 %1 31 vloww
6. Who amongst the following batsman has scored a triple century in test match

(1) Sachin fendulkar (2) Rohit Sharma (3) Virender Sehwag (4) Rahul Dravid

frtferfiga o forg agerw 3 ¥ A ¥ fowu wow s E 7

(hEfmdgem )i Q) dwmEm  (4) wE e
7. Who is the champion of Formula One US Grand Prix 2015 ?

(1) Lewis Hamilton (2) Nico Rosberg

(3) Sebastian Vettel (4) Kimi Raikkonen

e 9 3,58, Avs sfiew 2015 1 ST w2 7

(1) deftg e (2) frent Waart

(3) Farfed aea (4) Tl Trrpen

8. Which of the following is the longest river in Asia ?

e 2 Yellow Rjyer

(4) Amur

(3)

(Turn ()ver:)
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e 1 3 foren ) wd ool A R 7
(1) e (2) Fmest (3) dieft 7] (4) ¥R

9. Which of the following holds the top rank in Globa! Competitiveness Index
2015-16 ?

(1) India (2) Switzerland  (3) Singapore (4) Germany
P & @ B A whvemt g 2015-16 8 fd s w d ?
(1) WA (2) wieae (3) gy (4) sl

10. World's first airport to fully run on solar power is situated at :

(1) Kochi (2) Vancouver (3) Dubai (4) Zurich
ol g & T S G e TTE g AT VRS Fard gl e o e R
(1) ®=h (2) &HR (3) o8 (4) T

11. The film honoured with the Golden pPeacock award for best film at 46th
FFFlis:

(1) The Man who knew Eternity (2) TheClan

(3) Eisensteinin Guanajuato (4) Embrace of the Serpent

i F B R, 464 FFFI&,E&%&@%%‘QWWWR@HW&H
R TR
1ya g AT

(3)315@?@@3”@@”&

(2) @ FH

(4) (Conrinuic.<)
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12. Who won the women's single crown in Macau Open Grand Prix Gold Champion-
ship, 2015 ?
(1) Minatsu Mitani (2) SainaNehwal (3) Shin Seung Chan (4) P. V. Sindhu
w615 S A5 e TS S, 2015 H Wi 7 e e A 2
(HFTg et Q) §e e ) famsm (4) 4 4 fry

13.Justice T. S. Thakur is the

— Chief Justice of India.

(1) 40th (2) 43rd (3) 39th (4) 41st
=Tt & OE ST YR ¥ ——— gy ety § |

(1) 403 (2)433d (3) 3949 4) 413

14.UN has announced 'International Year of Pulses’ lothe year:

I T 3 A 1 e o d ) s

(1) 2015 (2) 2016 (3) 2017 (4) 2018

15. Which political party got maximum number of seats in the 'Bihar election2015'?

(1) BJP (2) ID (U) (3) Congress (4) RID
EAER R LG oY ‘ﬁmwzols’ﬁwﬁm;ﬁéﬁvﬁ ?
(1) dt 3.4, 2) 9.3, (3) (3) Fig 4) a4
16.Il)r(1} ;E;Z ;;::2; sl‘l:)yl(lr,’:gi}; c;t‘; the following Stateg registereq the minimug
By ] 3) " szoram
(5)

(Turn Over)
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EEEEESCE: : - N
ﬁm%;ﬁ a1 T R 2011 ) s § s e e (st e fedi) Tefigd

(1)3W=el U39 (2) fafEm (3) TS (4) frsim

17.The court of Alauddin Khilji was graced by a great poet named :

(1) Firdausi (2) Tulsidas (3) AmirKhusro  (4) Omar Khaiyyam

aem&af@aﬁww%qmwﬁ%mﬁ{ﬁaﬁm%, IR T E

(1) el (2) gerdiam (3) i gE (4) S @A

18. Who is called the Father of Economics 7

(1) Max Mulier (2) Karl Marx (3) Adam Smith ~ (4) Amartya Sen

mﬁlaﬁmwmaﬁﬂm%;

(1) feq TR (2) st AT (3) ven feux (4) 33 T

metres are represented by 1°of Latitude ?

(3) 111 km (4) 91 km

19.How many kilo

(1) 321 km (2) 211 km

sprn 1° feet W{ﬂﬂfﬂﬁﬁmm% ?

(1) 321 B (2) 211 ol (3) 111 ferel (4) 91 st
20.Whatis ¢ pame of lndia’s i indigenously developed nuclear submarine ?
(1)INS gindhughohs 2) KI5
(3) INS Arihant AyNew

(Continued)
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m%@w&sﬂﬁmﬁam@mww% ?
(1) 3m3,51,28, foryany (2) %, 15
(3) ¥1%.¢7.78, fEa (4) 3.7, frmiie

21.Which country other than India, has gotits independence on 15th August ?
(1) Sudan (2) Irag (3) SouthKorea  (4) Brazil
YT o ST fohE 29 3 15 30T Y e wm ) -
(1) gsm (2) W= @) o wfen  (4) s

22. Raindrops are spherical due to :

(1) Viscosity of water (2) Surface tension
(3) Continuous evaporation (4) Air friction
o5 e & g ) 98 Marar A
| (1) ¥ % wrefrena (2) 98 % T
() s amdes (4) & & wdon

23.The paintings of Ajanta depict stories of the :
(1) Ramayana (2) Mahabharata (3) Jatakas
s & o T et o et @

(1) THR _(?) HeTR (3) =

(4) Panchatant,

4) duy
(4

(Turn Over)
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24. Zojila Pass conaects :

(1) Kashmir ahd Tibet (2) Nepal and Tibet
(3) Leh and Kargil (4) Leh and Srinagar
e & Srear 2 -

(1) o o foeaa (2) el oo
(3) 18 wd HRAA (4) &g T@ A

25.Which part of human body is responsible for storing Glycogen ?
(1) Kidney (2) Lungs (3) Liver (4) Intestine
mﬁmmmmm%m%%ﬁﬁrﬁm? 7
(1) T (2) &FY (3) 7Fa (4) ST

26. Where is the emperor Akbar's Tomb situated ?

(1) Dethi (2) Amarkot (3) Sikandara (4) Fatehpur Sikri
(1) f&@ (2) ST (3) fespe (4) BoER HH

17, The authof of the book "My Experiments With Truth is:

(1) Vaulana At Kalam Azad (2) Govind Vallabh Pant

G)M.K. Gandhi (4) TaraAli Beg

(8) (Continued)
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gEIh WIg wauieed fau g’ & O §
(1) DA AT HTeI™ AT (2) M= a@w vid
(3) @, &, mieh (4) am 37 3

28.The language of discourse by Gautam Buddha was :

(1) Bhojpuri (2) Magadhi (3) Pali (4) Sanskrit
Mad g % va=a 6 o
(1) g (2) = (3) ot (4) Tega

29. Swaraj Party was formed by :

(1) C.R. Das (2) Motilal Nehru

(3) Jawaharlal Nehru (4) C.R. Das and Motilal Nehpy

S T 1 e TR T

(1) &, 3R, 3/ g (2) didftare FgE g

(3) TG A& g (4) ¥, 3T, T v Aot Jgw 2
‘30. The narrow stretch of water connecting two seas is called :

(1) Bay (2) Peninsula (3) Isthmus' (4) Strait

AT S F 9 & Fh T ) |

(1) 4 @) g (3) Feerdtd (4) Sz

(9)

Turn Ovey )
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Direction : Choose the incorrectly spelt word (Q. 31-33) :

31.(1) Dependance (2) Dependence (3) Entrance (4) Entertain
32.(1) Percieve (2) Receive (3) Conceive (4) Belief
33.(1) Delirious ~ (2) Delusive (3) Hefty (4) Hienious

Direction : Choose the one which best expresses the meaning of the given itali-
cized idiom/phrase (Q. 34-38) : '

34. His most trusted friend proved to be a snake in the grass.

(1) An unreliable person (2) Ahidden enemy

(3) Low and mean (4) Cowardly and brutal

35.1 have a bone to pick with you in this matter.

(2) Selfishmotive (3) Selfless motive (4) Desire

(1) Amangry
36.1 have come to know of your hole-and-corner methods of dealing with people.
(1) Suspicious (2) Secret (3) Servile (4) Strict
37.To be in dribs and drabs
(1) Without fail (2) With much case
(3) Insmall quantities (4) With great difficulty
18.To pick holes :
(1) Find some reasofl to fight (2) Destroy something
(3) Criticise someone (4) Cut some part of an item

(10) (Continued)
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Direction :Choose the one which can be substituted for the given word/sentences

in the following questions (Q. 39-53) :

39.0ne who sacrifies his life for a cause :

(1) Patriot (2) Martyr (3) Soldier
40.A person who looks at the dark side of cverything -

(1) Sadist (2) Blind (3) Pessimist
41.A pcrsoﬁ who eats too much :

(1) Glutton (2) Reveller (3) Sensualist
42.Talking disrespectfully of sacred things is called :

(1) Blasphemy (2) Heresy (3) Atheism
43.Killing of one's own brother :

(1) Suicide (2) Matricide (3) Fratricide
44.Choose the nearést synonyms of 'DEXTERITY" :

(1) temerity (2) skill (3) disastrous

45. Choose the nearest synonyms of IMPLORED' :

(1) told frankly (2) refused bluntly
(3).1“‘3‘!1"‘33‘ed earnestly (4) denied flasty
(1)

(4) Revolutionary

(4) Optimist

(4) Omnivore

(4) Apostasy

(4) Genocide

(4) decent

(Turn ( )Ver)
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46.Choose the nearest synonyms of "INSINUATE':
(1) sintul (2) pierce (3) perilous

47.Choose the nearest synonyms of INTREPID' :

(1) brave (2) hungry (3) polite
48.Choose the nearest synonyms of'HOODWINK':

(1) pacity (2) deceive (3) believe
49.Choose the nearést antonyms of 'INDICT":

(1) exonerate (2) cross-examine (3) respond
50.Choose the nearest antonyms of ' KINGLY":

(1) lowly (2) magnificent  (3) royal

51.Choose the nearest antonyms of'ELAN':

(1) brashness (2) dignity (3) composure

52.Choose the nearest antonyms of MACABRE":

(1) ugly (2) lovely (3) extravagant
onyms of PRAGMATISM e

53.Choosc the pearest ant

(1) idealism (2) favouritism (3) opportumsm

(12)

(4) suggest

(4) stupid

(4) achieve

(4) prevail

(4) absurd

(4) nervousness

(4) unholy

(4) utilitarianism

(Continued)
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Direction :Read the passage. Then answer the questions below :

Most human beings are awake during the day and sleep all night. Owls live the opposite
way. Owls are nocturnal. This means that they sleep all day and stay awake at night.
Because owls are nocturnal, this means they must eat at night. But finding food in the
dark is difficult. To help them, they have special eyes and ears. Owls have very large
eyes. These eyes absorb more light than normal. Since there is little light during the
night, it is helpful to be able to absorb more of it. This helps owls find food in the

dark. Owls also have very good hearing. Even when owls are in the trees, they can hear
small animals moving in the grass below. This helps owls catch their prey even when
it is very dark. Like owls, mice are also nocturnal animals. Mice have an excellent

scnsc of smell. This helps them find food in the dark. Being nocturnal helps mice to
hide from the many different animals that want to eat them. Most of the birds, snakes
and lizards that like to eat mice sleep at night — except, of course, owls |

54.Based on information in paragraph, it can be understood that an animal with
small eyes : '

(1) must be diurnal (2) has trouble seeing in the dark

(3) can see very well at night (4) is likely to be eaten by an owl
55.According to the passage, owls can find food in the dark using ther sense of:

(i) sight '

(if) sound

(¢i1) smell

(1) () only — @) ()and (i) only

(3) (i?) and (iii) only _(4) () 13\ agg (i
(13)

(Turn Over)
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56.Based on information in the paragraph, it can be understood that mice sleep
during the day in order to :

(1) find food that other animals cannot
(2) keep themselves safe
(3) store energy for night time activities
(4) release stress
57. Based on information in the paragraph, it can be understood that
(1) owls hunt mice
(2) mice can hide from owls
(3) mice and owls both hide from birds, snakes and lizards
(4) birds and snakes often hunt lizards
Direction : Read the passage. Then answer the questions below :
Burdwan, we Were told, "Third class tickets are not booked - carl%/.' [ went to the
<tation master. He also gave the same reply. As soon as the booking window opened,

ioht was right and passengers, ahead of others and indifferent to others;coming one
m;‘g another continued to push me out. T was, herefore, about the last of the first
after s :

a ticket. . | —_
to get nd gettinginto it was another trial. 1 Went to the guard. He said,

ake the next train. Much agamst my mind, |

At

crowd

inarmive
The train arm
'you must try to get in where you can, Of t

(Continued)
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got into an inter-class compartment with my wife. The guard saw us getting in. At
Asansol station he came to charge excess fare. [ said to him, 'It was your duty.to find
us room. We could not get any, and so are sitting here.' "You may not argue with me )
said the guard, 'T cannot accommodate you. You must pay the excess fare or get out.
1 wanted to reach Pune somehow, so [ paid the demanded excess fare, but resented
the injustice.
58.The author had to pay excess fare because *

(1) The guard had seen him entering the inter-class compartment

(2) He was travelling by a class higher than the one he was entitled to

(3) He intended to travel up to Pune

(4) The third class compartment were crowded
59. The author travelled by inter-class because :

¥

(1) inter-class compartment was comfortable

(2) inter-class compartment was not crowded

(3) he could not get into a third-class compartment

(4) the guard charged him the inter-class fare
60.The author could have easily purchased tickets if :

(1) He had decided to travel by inter-class

(2) There were two booking windows

(3) There were fewer passengers

(4) There was a proper queue system at the booking window

(15)
(Tur n O].!e P')
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61.How many stations are mentioned in the passage ?

(1) One (2) Two (3) Three (4) Five
62.Find the number of factors of 1080 :

1080 % Turehi <) HEN A :

(1) 32 (2) 28 (3) 24 (4) 36

63.For 20 students, the mess bill for 12 days is Rs. 7,000. In how many days will the
mess charges be Rs. 4,900 for 8 students ?

(1) 20 days (2) 21 days (3) 22 days (4) 23 days

20 ol & R, 12 fAt % fore im0 ot 7,000 53 2 | fra fol 8 B & fer
4,900 %, &1 W fore gom 7

(1) 20 f& (2) 21 f& (3) 22 f& (4) 23 T

64.A man donated 6% of his income to a charity and deposited 20% of the rest in a
Bank. Ifhe is left with Rs. 14,100 then his income is :
@mam%mma{mwmwmﬁmﬂtmmma%
2 o 3 R o | A FEh O 14,100 T 39 & A Jah W TR :

(1) Rs. 18,000 (2) Rs. 18250 (3)Rs. 18,500  (4) Rs. 18750

oys and that of girls is 11:9. 30% of the boys and 20%

lass the ratio of b :
65.Inac Find the percentage of passed students of the class

irls are passed. s
of the gl 8¢ B T 1197 1 30% s i 20% efea 3

EESRIGE: gl
ﬁ Imﬁ@ﬁﬁﬁﬂﬁﬁmuﬁmw%:
(1) 23.5% (2) 24.5% (3) 28.5% (4) 25.5%

(16) (Continued)



16U/117/22 (1)

66.The profit made by a merchant in selling 5 meters of cloth was equal to the price
of 2 meter of the cloth. Find his profit percentage :
T AN S el FIg a9, 2 e w9 & g % TR w Aia frar | @
™ gfewra W& :

(1) 60% (2) 66.6% (3) 50% (4) 40%

67.Ramu lent Rs. 2,800 to Suresh at 2% per annum at simple interest. After 5 }-'c‘ars.
Suresh repaid the debt by giving a cycle and Rs. 2,500. What is the value of the
cycle ? ‘
WA W A ER 2,800 Wy T 2% NG o W w R | 5 @ $ ae,
GO U WTSThet 3 T 2,500 3 Fol JoBI | @3t 1 qed o1 B 7

(1) Rs. 590 (2) Rs. 600 (3) Rs. 580 (4) Rs. 420

68.0ne pipe can fill a tank in 40 minutes an outlet pipe can empty the full tank in
24 minutes. 1f both the pipes are opened simultaneously, what time will it take
for the full tank to be emptied ?

(1) 30 minutes (2) 60 minutes (3) 15 minutes (4) 45 minutes

T T U & 40 e A Wt wehal & aun e 9y qu 3% 24 fre § mreh

m%:ﬁﬁm%m@éaﬁ%,awhmm%%ﬁmm
?

(1) 30 fme (2) 60 firre (3) 15 fre (4)45 fimz

69.In a fort, there are 1500 soldiers and they have provisions for () days. If 600
soldiers leave the fort and the remaining soldjers increases the
by 50%, for how many d:%: will the provision last ?

o 6t 3 1500 8 § 31 37 90 90 foit 3 fore - 1 9R 600 3

o it 23 23 3 v o v 50% 8 a0 28 1 g

ir consumption

(1) 80 (2) 90 (3) 100 ) 120

(17)
(Turn Over)
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70.How long will a train of length 250 meter running at a speed of 108 km/hrs take

to cross another train of length 350 meter running in the same direction at a
speed of 18 km/hrs ?

(I) 15seconds  (2) 21 seconds (3) 24 seconds (4) 18 seconds

@m@ﬁéﬁzsmﬁa%aﬁtmnﬁ108m=nauﬁﬁa%a‘r3so:ﬂaa%ﬁ
ot Rt 1fty 18 feft /e 2, ) v o  ar ot 2

(1) 15 %&s (2) 21 ¥%e (3) 24 ¥sg (4) 18 ¥s

71.Ravi earned a sum of Rs. 10,800 and donated 40% of it to charity. He gave 15%
of the remaining amount to Ramu. After giving 25% of the remaining amount (o
Anita, he deposited the rest in a bank. How much money did he deposit in the
bank ? -

T 10,800 w3 6t TR Iarsa fra 2l 40% 1 g IR | e | I8 I TRT Al
15% w1 % T | 3w i = 25% e 1 2 F 15 I =it Ul T A % I

fora | = & fraaT %, ST e T ?
(1) Rs. 4,000  (2) Rs. 4311 (3) Rs. 4,131 (4) Rs. 4,300

72.Which number is like the given set of numbers ? (2,13,61)
Sy R T F B TR 7 (2,13,61)

(1) 17 ) 123 (3)101 (4) 20

73.A person's present age is 2/5th of the age of his mother. After 8 years, he will be
one-half of the age of his mother. How old is the mother at present ?

(1) 32 years (2) 36 years (3) 40 years (4) 48 years

(18) (Continued)
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T St 1 T AT Ao A Y 3w F 2/5th R | 8 |1t 9., 98 NG uf ) 3y
H1 A1 B N | 7 FdE oy w

(1) 327 (2) 3694 (3) 40 a9 (4) 48 ad
74.How many bricks of 20 cm » 10 cm will be needed to make the floor of a room
25 m long and 16 m wide ?

25 it i ik 16ma@m}ﬁwm%%qzocmﬁmalocma’@éﬁ
foreeft 2 ettt 7

(1) 20000 (2) 22000 (3) 18000 (4) 21000

75.The area of the four walls of a room is 660 m? and length is twice the breath,
the height being 11 m. Find area of the ceiling :

(1) 180 m? (2) 200 m? (3) 300 m? (4) 250 m?

@maaanaaﬁmahmﬁﬁowéa%mﬁwmg;mg 11 o
RIDITH P bl :

(1) 180 (2) 200 2 (3) 300 =2 (4) 250 2
76.A path 7 m wid i in dj ind
thep;ath :m Wide surrounds a circular Jawn 252 m in diameter. Find the area of
(1) 5698 m* ~ (2) 6589 ny (3) 8596 m? (4) 9685 .2
m
T T R 7 ek <y @ 252=ﬂawmmrummﬁﬁﬁm%
b TR 57 ey
(1) 5698 (2) 6589 2 3) 8596
CIB6AE gy %85 -
(19)

(7}”'” ()p{;}a)
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77.The outer measurements of a closed wooden box are 45 cm x 32 cm x 28 cm. If
the box is made of wood 1 cm thick, what is the capacity of the box ?

(1) 33500 cm®  (2) 33500 cm’ (3) 33540 cm? (4) 33540 cm’

U 52 T b HGH H A0 WA 45§ 32 8A « 28 &t ¥ | afe a5 I TSl
| a0 2, o wgh H amE R 7

(1) 33500 &P (2) 33500 &Y (3) 33540 &2 (4) 33540 &f°

78.An inclined ladder, 10 m long, reaches a window 8 m above the ground. Find
the distance of the foot of the ladder from the basc of the wall :

(1) 4m (2) 6m 3)7m (4) Sm

o 10:ﬂaa’aﬁgﬁﬁiﬁ,m%marﬂuiﬁﬁf@gaﬁmq§aﬁ% | ST % IR
RTOE R IR

(1) 4= (@) 6% (3) 7 i (4) 5
79, The number having no reciprocal is :
e e A G ¥
(1) 2 2 1 3)-3 )0
80.The average age of two brothers is 9 years. It is increased by 9 years when their
.mothcf sageis also included, then the age of mother is :

(2) 36 years (3) 37 years (4) 38 years

(1) 15 }’Bﬂrs

(20 ) (Cominu.ea‘)
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& Wrgdl ) 3itea I 9 ad | W I wi i 3w Wt g & et B A w W 9wt iy
FeRa e aaihwmd:

(1) 35ad (2) 36 3¢ (3) 37 T (4) 38 a4

81.1f three-fourth part of a post is under water, then what percent is above water ?
7t T W@ H AN wm ar F A R, A g F e gfowa ot @ FW
g7

(1) 25% (2) 30% (3) 40% (4) 50%

82.1000 tickets of a lottery were sold and there are 7 prizes on these tickets. If .Y
has purchased one lottery ticket, what is the probability of him winning a prize ?

et & 1000 fowe ¥ ML IR F et W 7 [ # | 3R X @it fwe @l
3, O 30 R A il gyrad | R 7 _

(1) 7% (2) 7/100 (3) 7/1000 4) 70%

83.In a certain code language, '479" means 'fruit is sweet'; '248' means *

| very sweet
voice' and '637' means 'eat fruit daily'. Which digit stands for 'is' in that code ?

(1)7 (2)9
(3)4 (4) Can't be determined

84.4 walks 10 metres straight and then 10 metres to the right, Then every

turning to his left, hé waiks 5, 15 and 15 metres respectively, oy, 1 time
from his starting point ? IShe now
() 7m (2) 5m (3)3m

4 1m

(21)
(Turn Over)
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A TR 10 Hiex e & 10 e o e 2 | e e o o o S 7
5,15 S 15 et 1 g0l shrw: T @ | 98 i e fig & ova frr g 2 7

(1) 7 e (2) 5 e (3) 3 e (4) 19
85.8, 0, 6,24, 60, ..., 210.
(1) 117 (2) 119 (3) 120 (4) 126

§6.Find the missing number :
R TS U e

18 | 24 | 3
12 14 | 16
317 | 4]
72 1 112 128
(1) 2 2) 3 (3)4 4)5

87.1f P denotes =, Q denotes x, R denotes + and S denotes —, then the value of

P 4R 5 S 6 when simplified gives :
%Qplwmf% L Q@ ad R x, REI a8 2+ M S A & —, T 18Q 12P

AR5 S 6 ) T E

1) 36 (2) 53 (3) 59 (4) 65
e hells begin t0 toll together and toll respectively at intervals of 6, 5, 7, 10
88.1 1‘(’1312“'520011 4s. How many times will they toll together in one hour excluding
an '
{he one at the start 7 A A & AL Al B
- RN 2T 6,5,7, 10 128, AW 7 FHR: FWq - I
:‘;:H?E'Q- ﬁm@ﬁﬁﬁtﬁaﬁmmw&ﬁﬁ?
(7 @ 8 2 i
(Contirued)
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89.In a row of girls, Kamiya is fifth from the left and Preeti is sixth from the right.
When they exchange their positions, then Kamiya becomes thirteenth from the
left. What will be Preeti's position from the ri ght ?

(1) 7th (2) 1lth (3) 14th (4) 18th
@%ﬁ@ﬁ%ﬁ,ﬂﬁmaﬁﬁqﬁ%ﬂuﬁﬁﬁ%ﬁmm%\m%mﬁ
wﬁwmmmﬁé,amﬁmaﬁémﬁmamﬁﬁmﬁm
T anft 2

(1) 7 (2) 114 (3) 14 f (4) 18 &f

90.Sunita ranked 11th from the top and 27th from the bottom in a class. Tlow many
students are in the class ?

G e F IR 11 § oo w s A A 273 vom T oft | wem N gt foed
s ? ‘

(1) 38 (2) 28 (3) 40 4) 37

91.Arrange the given words in alphabetical order and tick the one that comes last -

(1) Abandon (2) Actuate (3) Accumulate  (4) Acquit

92.4 and B are brothers, Cand D are sisters. 4's son is D's brother, How s Brelated
toC?
(1) Father (2) Brother (3) Grand Father (4) Unele
AR BYE | Cok Dy % iAmﬂaD*rqﬁﬁnﬁmcﬁmmg .
(1) T (2) W (3) = iy
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93.Five boys 4, B, C, D and E are standing in a row. A is between C and D and B is
between D and E. Which of the following pairs represents the boys standing at

both the ends ?
g/ @& A, B, C, D v E T ufth A @S © | Csm Dy A 4@y 2w
DaﬂIE%iﬂaB@@%lﬁmﬁﬁﬁamsﬁ@aﬁ%ﬁq{@%@ﬁwyﬁﬁﬁa

Far e ?

fhy €18 (2) E,C (3) E,A 4) A,C

94.1f NARGRUED is the code for GRANDEUR, which word is coded as
SCRPEVRLE?
s GRANDEUR &1 #1€ NARGRUED 2 Al SERPEVRE &1 i 1B 7

(1) PERSEVER  (2) PRESERVE  (3) PERSERVE (4) PREVERSﬁ
95, Statements .
(i) All birds are dogs.
(if) Some dogs are cats.
Conclusions:
(/) Some cats are not dogs.
(i) All dogs are not birdé.
(1) Only (i) 18 jmplicit
(2) Only (i) is implicit

(3) Both (i) and (i) ar¢ implicit

(4) Neither (i) 0Of (ii) is implicit

(Continued)
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96. Statements :
| ({) Some cars are scooters
(i) Some sc;ooters are not calculators
Conclusions :
" ({) Nocarisa calculator
(i) All cars are calculators
(iit) All scooters are cars
(iv) Some scooters are cars
(1) None follows
(2) Only () or (ii) follows
(3) Only (i) follows
(4) Only (i) and (iv) follow
97. Average family income is right where it was 20 years ago, even though in most
families these days, husbands and wives are working.

The above statement implies all of the following except

(1) Even though nominal family income may have increased, inflat; .
: & ati
at an equal rate ’ on has risen

(2) More hushagds and wives are working today than 20 years ago

(3) It was more prevalent for ope SPouse to work 20 years ago thap IOday

(4) Wives earn more than husy, 4 today

25
( ) (Zurn ¢ Jer)
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98.'Even since | arrived at the college last week, I've been shocked by the poor
behaviours, of the students and the unfriendly attitude of the townspeople, but
the professors are very erudite and genuinely helpful. Still, I wonder if I should
have come here in the first place.’ :

Which of the following, if true, would weaken the above conclusions ?

(1) Professors are not always helpful
(2) The college numbers over 50,000 students
(3) The college is far from students' homes

(4) Not all professors have doctorates

99_Five boys took part in a race. Raj finished before Mohit but behind Gaurav. Ashish
finished before Sanchit but behind Mohit. Who won the race ?

(1) Raj (2) Gourav (3) Mohit (4) Ashish

qiaa;a#%qaaasﬁum%m | 7 Hifa & TEw, afed T & a5 4 4 #IH
%mnmﬂﬁﬁﬁmﬂ%ﬁ,éﬁﬂﬂ%ﬂ%%asm%m | forem Qe S

(1) & (2) M@ (3) wifed DELIE
100. Arrange the following in a meaningful sequence of events:
(a) Consultation
(b) Iliness
(c) Doctor

(d) Treatment

(Con!inur;-'d}

(26)
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(1) ®), ©), (@), @)
@ ®), ©), (@, (@
(3) @), (©), (). (8)
(4) @), (@), (), (6)

101. A train always has
(1) Engine (2) Rails (3) Driver (4) Passengers
THA A Ewm
(1) 3RA )@ (3) s (4) 7t
102. Who is the author of the book 4 Judge's Miscellany 9
(1) Justice H. R. Khanna (2) Justice M. Hidyatullah
(3) Justice Dalveer Bhandari (4) Justice Denings
A Judge's Miscellany % a3 -
(1) e T, 3, @ (2) Ifew w, fieraggy
(3) Infeew et erdh (4) sfem 3w

(1) Article 32 (2) Atticle 141 (3 Article 22¢

(27)
(Turn Jver)
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i % RgR ¥ fRE sEedt % g ware SRed g SR
ATTERE % S SRR Fal @ 7 & 7 Tl

()sgedes2  ()emweldl  (3)IR226  (4) TN

104. Under Muslim Law. marriage is regarded asa .

(1) Sacrament (2) Contract (3) Social need (4) Tradition

g&rﬁ«mﬁﬁﬁaar—mhﬁam‘%:

(1) TR (2) 7 (3) aafE TR (4) T

105. Right to travel is a fundamental right under :

(1) Article 19 of the Constitution  (2) Article 21 of the Constitution

(3) Article 15 of the Constitution  (4) Article 14 of the Constitution

@iﬁtﬂqﬁﬁam%ﬁmﬁw&aHMWﬂm IR R
(1) #7519 (2) =321
(3) TG 15 (4) = 14

106. Impeachment of President of India can be initiated in :

(1) Either house of Parliament

(2) Inajoint sitting of both houses of Parliament

(3) Lok Sabha

(4) Rafya 2

(28) (Continued)
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W % Tl W AR 1o fear a1 e §
(1) g8 & foedt we A
(2) ag $ Q1 gl 6 aftifaa g &
(3) & @1 |
(4) T a1 &
107. Directive Principles of State Policy aims at :
(1) Ensuring individual liberty
(2) Ensure in strengthening the country's independence
(3) Providing the social and economic base for country
(4) Achieving all these objectives
sy i #t féws it 1 o 2
(1) e T g we
(2) &0 ) T F o g s
(3) &0 H T T ¥ amyr dam wn
(4) 3T Tt A B Wy e

29
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108. Advisory jurisdiction rests with :
(1) Subordinate courts (2) High courts
(3) Supreme court (4) All the courts
HATEHT eI &7 2 -
(1) genfie =mrne™ & I (2) 3= R % T
(3) 3= =TT & I (4) @it <TRTEE % T

109. How many languages are recognized in the Eighth Schedule of the Constitu-

tion ?-
R STt ) afaum 61 el SrgE d wre g ?
(1R (2) 10 (3) 18 (4)_22

110. According to the Preamble to the Indian Constitution, which one is not true ?

(1) Sovereign (2) Democratic (3) Socialist (4) Nationalist

W@ﬁqﬁﬁuﬁﬁm%wwaﬁaﬁ%?
(2) TR (3) AT (4) Tgad

(1) &9y
111. Which writ can be filed to release a person from illegal detention ?
(1) Habeas corpus (2) Mandamus
(4) Quo Warranto

3 Prohibition

(30) (Continued)
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e ot e v R 3 o e ) Rt et 35 o g ) o w2 7
(1) ¥dia Frdg (2) =ww
(3) Wi (4) F-arE=2
* 112. Who was the President of the Constituent Assembly ?
(1) Dr. Rajendra Prasad (2) Dr. B. R, Ambedkar
(3) Dr. Sarojini Naidu (4) Mahatma Gandhi
qfauw 8 & e A Y 7
(1) 37, T warg (2) &, &, I, sragH
(3) &1, & g (4) nsm e
I13. Which of the following is not a fundamental right ?
(1) Freedom of speech (2) Right to life
(3) Right to equality (4) Right to work

¥ 8§ BN wiifern siftrem 78 3

(1) are A T (2) fH T A
(3) @ 1 AftrwR T T SR
(31)
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114. Which one of the following right is a Constitutional rights but not a Funda-
mental Right ?

(1) Right {o freedom of expression (2) Right to freedom of religion
(3) Right to property (4) Right to move freely

fi 3 & i @ gt s § g Wi st T @

(1) wfveates &t Taaal & fUER (2) T ) T H ATHR

(3) wufw w1 St (4) STSITE) A TAFANG §H 1 AT

115. President of India can make laws during recess of Parliament through —

(1) Statutes (2) Ordinances (3) Bills (4) Notifications
m%@?ﬁwﬁ%wﬁm%m%wmeﬁ%‘ !
(1) afefs (2) reneH (3) ferrs (4) sfergee

116. Who among the following enunciated the 'Doctrine of Rule of Law'?

(1) Ronald Dworkin (2) Salmond

(3) A. V. Dicey (4) John Austin

ﬁq@r@aﬁ%ﬁﬁaﬁﬁﬁ%w%%ﬁawqﬁrﬁﬁm%?
(2) wrHvE

(4) 7 A

(l)ﬂqﬁﬁiﬁ%ﬁq

(e A !

(32) (Continued)
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117. Criminal Law (Amendment) Act, 2013, does not provide that :
(1) A rape convict can be sentenced to a term not less than 20 years
(2) Death sentence to repeat offenders
(3) Stalking and voyeurism are bailable offences
(4) Acid attack convicts can get a 10-year jail term
ATt HA (Fehe) sfifeg 2013 971 76 =
(1) T SEARHN % T @) 20mﬁwmﬁxeﬁimqﬁmmm§
(2) SRt & sm i gogta v € @
(3)ﬁmmafnwfa?mam=ﬁﬁmm%
(4) e goet Qi ) 10 81 &1 S 61w frer et 2

M8 dnIndia, Unitorm Civil Code is applicable in the State of :

(1) Goa (2) Nagaland (3) Jammu & Kashmir (4) Maharashirg
wﬁamm&asd%maﬂaﬂmﬁm% ?

(1) tham (2) Tt Q) @ wmi () TRy

19. Damaum sine injuria means damage without injury to togsa 5
'sine’ means which of the following ? 4 Tight. Hence,

(1) Without ~ (2) Legal (3) Right |
4 To

(33)
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Damnum sine injuria %1 Haddd 2 ?:FFEﬂ siftrer dre & fo afy | Fr=fatad b
4 o 'sine' F HaA 8 ?

(1) Without (2) Legal (3) Right 4) To

120.'Pacta sunt Servanda' means that :

(1) The States are not bound to respect the agreement entered into by them.

(2) The agreements entered into by the States will be respected and followed

by them in good faith.

no obligation to follow the agreements in good faith.

(3) The states are under

(4) Through the Qtates are bound to recognize an agreement entered into by

them but cannot be completed to follow it.

121. What is Plea Bargaining ?

(1) A conference between opposing lawyers and judge to determine the time a

case should take place.

Q) A procedure by which an accused pleads guilty in exchange for a iesser

punjshmcnt.

(3)A conference between the opposing lawyers {0 settle the claim.

(4) A conference between the victim and the accused to seitle the claim.

erson who willingly aids or consent in an activity, especially a criminal

122. A perot - ol
activity 15 CAILE -

1) Accessory (2) Ancill:y (3) Attenuate (4) Faitacconphi
(1) Acces!
(34) (Continued)



16U/117/22 (1)

123. Vox populi means :
(1) A famous personality (2) Popular opinion
(3) A very popular drama (4) Group of people
124. Criminal or suspect on the run is called -
(1) Grass (2) Apache (3) Fugitive (4) Accomplice

125. A right to recover time barred debt js -

(1) Universal Right (2) Perfect Right

(3) Imperfect Right (4) Fundamental Right
ST =1 /o1 Y 19 =y

(1) arvitfnes aafien 8 (2) Tt arfirm

(3) 3ot safrme (4) 71 siferepm

126. A person 'dying intestate' means he -
(1) Died without legal heirs (2) Died without making awill

(3) Died without any property (4) Died without a sop,

127. De jure means :

(1) Outside the scope of (2) Bys=eas of fagf
(3) By virtue of law ) 7 7.
(35)
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i iy
128. 'Malfeasance' means :

(1) Mean mentality (2) Ugly situation  (3) Misfortune (4) Wrong doing

129. A puisne judge of a High Court is :

(1) A judge other than a Chief Justice  (2) The Chicf Justice

(3) A temporary judge (4) Aretired judge

130. What is the meaning of chattel ?

(2) Immovable property

(1) Any property
(3) Movable property (4) Cautle
{31. Fiduciary relationship is relationship based on:
(1) Contract (2) ’fmst
(4) Money

(3) Blood relationship

usband and wife have a right to each other's company. This right is called :

132.Ah
(1) Matrimonial right (2) Consortium right
(3) Maritat igh* (4) Conjugal right
was written by

ok-c(mcept of Law'

133. The bo
(1) Justice grishna ycr ) 111 A Hart
(3) Ronald Dworkin (4) enry —

{36) (Contintcd)



16U/117/22 (1)

134. lexi fori means :
(1) The law of the place

(2) The law of the court in which the case is tried
(3) Law of the place where the contract is made
(4) None of the above

135. Who described jurisprudence as lawyer's extroversion ?

(1) Savigny (2) Salmond (3) Julius Stone  (4) Buckland
feret faftramar = fafy @R 6 areRia % w9 i afh fr @ -
(1) & (2) ame G ATRWRA (4) g

136. PRINCIPLE : Everybody is under a legal obligation to take reasonabe care to
avoid act or omission which he can foresee wou|q mjure his neighbour, the

neighbour for this purpose is any person whom he should have i, his mind as
likely to be atfected by his act.

FACTS : Krishna, while drivingacarata high speedin a crowded road, knocked
down a cyclist. The cyclist died on the spot with a lot of blogq spilling around:

Eesha, a pregnant woman passing by, suffered from a nervous shock leading
to abortion. Eesha filed a suit against Krishna claiming damages, ,

(1) Krishna will be liable, because he oweq 5 dityo freasoﬁ .
: care ¢ 3
body on the road includin g Eesha. € to every

. . ; fia
(2) Krishna will not be th could not have

: fo Y
suffering from Nervous shock as g resye of his act reseen Eeshy

(37)
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(3) Krishna will be liable to Eesha because he failed to drive carefully.
{(4) None of the above.

137. PRINCIPLE : A master is liable for the acts committed by his servant in the
course of employment.

FACTS : Mahesh was a driver working in a company Lipton and Co. One day, the
Manager asked him to drop a customer at the airport and get back at the earliest.
On his way back to the office from the airport to complete a delivery, he
happened to see his fiancé Roopa waiting for a bus (0 g0 home. He offered to
drop her a1 home, which happened to be close to his office. She got into the car
and soon, thereafter, the car sgmersaulted due to the negligence of Mahesh.
Roopa was thrown out of the car and suffered multiple injuries. She sought
compensation from Lipton and Co.

(1) Lipton and Co. shall be liable, because Mahesh was in the course of employ-
ment at the time of accident.

(2) Lipton and Co. shall not be liable, Mahesh was not in the course of employ-
ment when he took Roopa inside the car.

(3) Roopa got into the car at her own risk, and therefore, she cannot sue

anybody.
(4) Non¢ of the above.

LE : Aminor is not competent to enter into a contract and the law will

{38. PRINCIP e )
the contract never happened and everything will be restored 1o 1ts

45suMme that
original posttion.

FACTS : A minor girl fraudutently misrepresenting her age entered into a

(38) (Continued)
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contract with other for the purchase of an expensive bicycle. After the bicycle
had been delivered, she refused to pay price for it and argued the non-existence
of alegally binding contract.

({) The contract is vaild and binding against the minor as the minor has mis-
represented her age knowingly.

(2) The contract is voidable at the option of the other party and thus the minor
is liable to pay if the other party wants to carry out the obligation.

(3) The contract is void ab initio and the court can direct the minor 1o restore
the bicycle to the other party.

(4) The contract is valid and the guardian of the minor will be liablc 1y pay for
the bicycle. :

139. PRINCIPLE : A contract ceases to exist when its obj

' ective becomes impossible
to achieve,

FACTS : Sunil entered into a contract with Suresh for sale of a dog which, af

the time of entering into the contract, was dead without the knowledge of both
the parties. Consequently, Sunil could not sell his dog as per the contract

(1) The contract is void as its objective is iImpossible to achieye
(2) The contract is valid and Sunil is liable foﬁ?ﬁé&h,
(3) The contract is void for feaud and Syresh can recover dapy,
38es from Supj|
(4) Nonc of the above.

(39)
(Turn Over)
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140. PRINCIPLE : No person accused of any. offence shall be compelled to be a

141,

witness against himself.

FACTS : Bureau of Investigation often usc intravenous barbiturates for interro-
gation. A militant X who was the only attacker captured alive by police was
subjected to such barbiturates, namely, truth serum and was interrogated. The
effect of truth serum is such that it forces the subject to speak the truth
irrespective of whether he wants to or not. Was such an action against the

principle ? Decide.

(1) No, bevause X gave the answers himself.

(2) Yes, because X had no choice but Lo answer the qul::w'tions_poscd to him.
(3) No, because yhad no need to ansver the questions asked of him.

(4) Yes. because the serum forced X to answer truthfully even if he did not
want to and make him a witness against himself.

PRINCIPLE : Every citizen shall be treated equally before the law. The State

shall not discriminate against any citizen on arounds of religion. ruce. caste
SCX.

Pradeshisa backward region where the state of women was pitiable.

FACTS : 4 .
re not Allaeeedd 0 g0 10 work. abuse was rampant and the crime
- Lk g

imen Wwe . o . o .
Wome™> o women In this State were highest in the country. To improve the
o 3 '\' uunlll - + . - . x .
e o rwomen, the Gtate decided to provide for reservation of woinen in
sitwation @

vernment qided educational jnstitutions.

(] ) | | - |

%“ ., yeservation Was challenged on the arounds of violating the richit to

" " Laecafl ? ;
ity of men. Can the challenge be saccessiol”?

cylit )] ik

{Continued
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(1) No, as the women in 4 Pradesh did not have equal rights as of men and the
State could make laws for the benefit of women to uplift them to an equai
status.

(2) Yes, as the State could not discriminate against anyone on the basis of sex.

(3) No, because providing for education is not discrimination.

(4) Yes, because women belong to the kitchen.

142. PRINCIPLE : Restricting someone's movement in such a manner that he cannot
leave on his own will amounts to unlawful detention.

FACTS : 4 goes to a bank and robs it. He runs away with the money and hideg
in his house. The police get to know and come searching for 4, they arrest him
and put him in jail.

(1) A has been unlawfuily detained,

(2) 4 is not unlawfully detained,

(3) 4 isnot unlawfully detained as he can €5Cape on his wi|

(4) 4isnot unlawfully detained as it is the Police who have Puthim ipy i
g Jal

FACTS:AbhinavandAnim . ,
ime. On a dark and "h@fegmdﬁ’mdsandhavekno
fong time. O dark and stormy e s ey e t© An

(41)
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whiskey as the two friends were used to drinking together. After a few drinks,
everyone was jolly and Animesh asked 'What are we drinking for 7' to which
Abhinav replied 'l just robbed a bank- at which both friends started laughing and
Animesh said 'good one'. After a few minutes the police came and arrested
Abhinav. Is Animesh guilty of harbouring 2 fugitive ? Decide.

(1) Animesh is guilty because he knew Abhinav robbed a bank.

(2) Animesh is not guilty as he was drunk.

(3) Animesh is not guilty as he thought that what Abhinav said was a joke and
did not take it seriously.

(4) Animesh is guilty because in spite of his knowledge that Abhinav had
robbed a bank hie kept drinking with him.

144. PRINCIPLE : Preparation s not an offence except the preparation of murder if
the preparation is for that specific offence of murder which eventually takes

place.

FACTS: Rameshwar keeps poisoned halua in his house, wishing to kill Binoy

whom he invited to a party and to whom he wishes t0 give it. Unknown t0

Rameshwar, his only son takes the halua and dies.
[n this case

(1) Rameshwar is tiable for the murder

(2) Heis aot liable for murder

(3) He is liable for culpable homicide

able because e should not hav* kifled his son

(4) He'is ki

(42) (Contfnued)
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145. PRINCIPLE : (i) If any person commits suicide, whoever abets in the
commission of such suicide, shall be punished with imprisonment of either
description for a term which may extend to 10 years, and shall also be liable to
fine.

(7) A person abets the doing of a thing, who intentionally aids, by any act or
illegal omission, the doing of that thing,

FACTS : SKR was a famous Bollywood star who acted in a lot of movies and

made a huge amount of money. There were a lot of rumours in the film industry
that SKR was a notorious womaniser and had illicit relationships with a Jot of

female co-stars. SKR ofien dismissed all these rumours i public saying that
he was a happily married man and all of this was just ways adopted by the media
to tarnish his image, During the filming of a movie Kerala Express, SKR was
photographed by a photographer of the Lives of India (a leading gossip news-

(1) BB is guilty of abetment of suicide,

(2) BB is not guilty of suicide

as he was not aware SKR w
drastic step; Ould take such z

B is not guilty because his act of publishine
(3)B isnot g IY' - p gthestoxywasnotim
to aid in the SKR's suicide, endeq

0g

Oany act
(43)
( % Urp Oy er)
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146. : i
6. PRINCIPLE : Causing damage to someone's body resulting in any permanent

damage or mark amounts to battery.

FACTS : Aand Bgotoa bar and order whiskey. B finishes his whiskey quicker

tf‘lan A and mocks him. Laughing along with B, 4 tries t0 give Ba congratulatory
high five. He misses the hand and hits B in the face which results in a small c':xt
above his eye. B goes to the doctor who tells him it is just a minor cut but is deep
and will leave a scar. B goes to the police next and files a case of battery.

(1) A is liable for battery
(2) Aisnot liable for battery

(3) 4 is not lable for battery as he was drunk

(4) A isnot liable for battery a8 there was no intention on his part

147. PRINCIPLES . (i) No person shall be deprived of his life or personal liberty

gxeept according t0 procedure established by 1aW.
(i) Wwhoever cOmMMits murder shall be punishcd with death, or imprisonnctt

tor life, apd shall also be liable to fine.

as an international criminal on the ruit with the investigation

1 AC’[‘S -Don W _ ;
208 ciesof 1 countri€s \.r.)okmg1 tj(_).[ him. Don \N as c.onvw.ted of -various crimes
‘{Ke gmtlggﬁi’\?«‘- v h.«ullt cring. Don arrived in India and in an attempt o
. pokilledd ccurity personnel and was captured. The court sentenced
b mbi:c’ i punishuent nod awarded him a death penalty for mardes
e : |
\\3&5 the ri o o

(Co ntinued)
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(1) Yes, looking at his past records it can be concluded that Don was a
dangerous criminal, and the court was justified in awarding him a death
penalty.

(2) Yes, as the court has been mandated to provide a death penalty or a life
imprisonment, as it deems fit.

(3) No, the court could not prowde a death penalty to Don as no person can
be deprived of his life.

(4) No, as Don only had an intention of robbing a bank and thus, was not guilty
of murder.

148. PRINCIPLE : All citizens shall have the right to freedom of speech and
f.‘Xpl‘eS'%iOﬂ
FACTS : X, a famous writer and novelist criticized another novelist, B stating
that 'the novel of B is foolish, he is a weak man, his novel s indecent, his mind

is impure, he is not of a good character, he should write deceng and good nove'
Can X'be used for defamation ?

(1) He is not liable because he has just expressed his persong| Viewy

(2) He is liable to be used for defamation if his stat

b

in malafide intentior, € or said

(3) He cannot be liable because he has Fundamenta] Right 1o
speech and expressjop. eedom

(4) He cannot be used, beCﬂUSC both are Wrlters

and noveljg
criticise each ather s ang both ¢an

(45)
(Turn Over)
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149, PRINCIPLE : Interfering with another's goods in such a way as il o
latter's title to the goods amounts to conversion and it is a civil wrong.

FACTS : Ram went to the bicycle stand to park his bicycle and he found the stand
fully occupied. Ram removed a few bicycles in order to re-arrange the stand and
made some space for his bicycle. He parked his bicycle properly and put back
all the bicycles except the one belonging to Shyam. It was rather ncgligent on
the part of Ram and he was ina hurry to get into his office. Somebody came on
the way and took away Shyam's cycle. The watchman of the stand did not take
care of it assuming that the cycle was not parked inside the stand.

Shyam filed a suit against Ram for conversion.

(1) Shyam would succeed because Ram's act led to the stealing of his bicycle.

(2) Shyam would not succeed, because Ram did not take away the bicycle

himself.

(3) Ram would not be held responsible for the negligence of the watchman.

(4) None of the above.

150. PRIN CIPLE: [ imitation bars the remedy, not the right.

FACTS :After {he expiry of the period of limitation of three years, debtor Rohan
mak)es a part payment of debt to creditor Sohan. Sohan then files a suit against
Rohan for recovery of the debt after two years from the date of part payment.

Decide.

(46 ) (Con[inued)
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| (1) The part payment extends the period of limitation.

(2) The suit is time barred as part payment is made after the expiry of period
of limitation.

(3) Fresh period of limitation begins from the date of part payment.

(4) None of the above.,

(47)
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